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) 30 Z As Bs.Z"n Fs Ks (t/m)
c 0 0 604 0 1 604
g 2 0.75 604 1,275 1 1,879
B 1 1.5 604 1,803 1 2,407
n 0.5 2.2 604 2,183 1 2,787
Cm 1
C 40
Fwl 1
Fw2 1
Nc 30.13
N 15.1
Nq 18.4
As= Cm.C.(cNc+0.5¥B.Nx)

Bs.Z"n= Cm.C.(¥.Ng.Z"n)

H= 2.2
C=0
$= 30
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Ko= 1-sin 30=
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deg.
t/m3

0.5

Ka= (1-sin 30)/(1+sin 30)= 0.33

PO=gxHxK0=

Pa=g*H*Ka=

Psur= 3.2

PsurxKo=

Kh=0.5 A

A=0.35¢g

Kae=0.43
Akae=Kae-Ka=

Pae=y*H*Akae=

2.2
15
t/m?2 DY 4,50 Glhe A ety o Hhyw Lis
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Wiy e S il lid o
0.10 W) e S il led lsl wo o
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P M P M P M fl f2 e B/4 [ B/3
45| C1 1.20 7.12 0.98 1.7 -0.8 8.86 | 0.20 6.5 8.2 0.02 |[0.30
45| C21 | 1.20 21.26 2.63 1.7 -0.8 23.00 | 1.85 114 | 26.9 0.08 | 0.30
45| C22 | 1.20 21.26 414 1.7 -0.8 23.00 | 3.36 5.2 33.2 0.15 | 0.30
Js [ C5 1.20 7.12 4.23 1.7 -0.8 8.86 | 3.45 -7.0 | 21.8 0.39 0.40
«b | C1 1.20 9.54 0.07 9.54 | 0.07 7.7 8.2 0.01 | 0.30
b | C21 1.20 27.61 0.26 27.61 | 0.26 219 | 241 0.01 {0.30
al | C22 1.20 27.61 2.06 27.61 | 2.06 144 | 31.6 0.07 {0.30
«L [ C5 1.20 9.54 3.21 954 | 3.21 -5.4 21.3 0.34 0.40
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L H= 22 m
Bl= 1.2 m
B2= 0.6 m
T
Bav= 0.9
Ka= (1-sin 30)/(1+sin 30)= 0.33
o p=(g*H*Ka)= 1.5
A ks Js 555l S alne
Pa= 0.5*p*H*1= 1.6
Mo= 1.2 t.m/m
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Mr= 2.3 t.m/m
F.S.= Mr/Mo= 2.0 >15 OK.
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0 = Va/(1*tf)= 8.4 t/m?2 ok Ay by RS
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Wif= 1.80
t2= 1.00

ton
ton

ton/m2

5010 Al U o2l oly g ol ledy Hlmod (gld duids and 0595

(S a9 cwls g (P xS 9
m
m
m
st R o J s
ok

b S g Cwlis s

5l o o oty GBS s o olml By 5 SAAS T S e g ceabind ob slie

t2= 1.00
Mb= f*B2*B2/2=
0 = Mb*6+(tf)2=

Vb= f*B2=
5 = Vb/(1*tf)=

m

0.69 t.m 4;:..4 é_laia)o)i:.l
4.14 t/m2 ok sy GAAS A
4.60 ton ey ahaie s iy
4.60 t/mz ok oy oy SR

Page 6 Sb 3x2.00



